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CLASS-12" (Sr. Sec.)

GEOGRAPHY
[Hindi & English Medium]
ACADEMIC/OPEN
[Time allowed- 3hours] [Maximum Marks — 60]
o FAT ATHT ¢ o 28 To7 7 § qiad T8 H&AT H 6 § oY THH 26 77 &
Please make sure that the printed pages in this question paper are 6 in number and it contains
26 questions.

o THHET T57 T ITAL AT L& LA | Tgol SHFT FHIF (or@AT R

Before beginning to answer a question, its Serial Number must be written.

o IAUAT ITL IEAHT H GIAT T/ T T IS

Don't leave blank page/ pages in your answer-book.

o STAT-IRTAHT & ATARTH HIe o7 offe TGN & FTUAT| A AAAFATIATL &l [or@ 9 forg I
& T A
Except answer-book, no extra sheet will be given. Write to the point and do not strike the

Written answer. . .
o  TIETeAT AT Tt AT T 9 U¥ 997 forg|

Candidates must write their Roll Number on the question paper.

o FUAT WHI T I & & Td g AT T of o6 TAIT Q0T  Hal g, THAT & IULd =9 a9
H e 9T ITET TR qg1 oAt STTuAT|
Before answering the questions, ensure that you have been supplied the correct and complete
question paper, no claim in this regard, will be entertained after examination.

qTHT= AT

OEEIRREIREIRE]

(ii) TEQES 717 % "ot fowed ford|

(iii) ST T % 3 Ik ATHA F9MT MU 5|
General Instructions:

(i) All questions are compulsory.

(if) Write the correct option in objective type questions.
(ii1) Marks of each question are indicated against it.

€T - &%
Section A
T G F GHT T 1-1 3(F ¥ §| T &< & Fof i 10%1=10 B
All the questions in this section carry 1 mark each. Total marks of this section are 10*1=10.

o 1. AT M HT STHF (o0 gl S1aT 572
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Q.1. Who is called the 'Father of Human Geography'?

3IdL Ans
A T&ar Strabo
B Wel® Y@t Friedrich Ratzel
C aferdfy Ptolemy
D g Hackle

To 2 AR HT A 97 G974 X g T HAT &I F2dT 87

Q2 Which mode of transport provides door to door service?

3I<<. Ans.
A TS Airways
B & Railways

C 9% AT Roadways
DRIFCKIED] Pipelines
Te 3 2011 FT TR % A ot § & o 17 & 9 # gy Srarat v Squrd
T ATeH 52

Q 3. Which one of the following states has the highest proportion of urban population in India
according to 2011 Census?

3L Ans
A. A Kerala
B. A2y Maharashtra
C. aff@=rg  Tamil Nadu
D. TraT Goa

o 4. et § & %19 A1 Feq 37 1T 087 Toi 82

Q.4. Which of the following is not a medieval town?

3L Ans
A AT Hyderabad
B AT Nagpur
C SaX Jaipur
D #g< Madurai

wo 5 THwferied ® & &I9 97 @9 987 82

Q. 5 Which of the following is a mining town?

3T Ans
A AT Satna
B #fi e Srinagar
C 3T Aligarh
D =far Jharia

wo 6 Aot § & o T T THior FiRaat 91ed & SUSTS STAlg 9aT1 ol Su<-gat
AT | qTE STl 52
Q 6 Which of the following types of rural settlements is found in the fertile alluvial plains and north-

eastern states of India?
I, Ans.
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AFd-g%a  Semi-clustered
B &<t Clustered
C gHeie Hamleted
D fS¥ux¥=  Dispersed
To 7 AT T LA Srfersor (NHAI) &7 5=1ere e 9 | f36= o2
Q 7. In which year was the National Highways Authority of India (NHALI) operationalized?

o 8. SEEAT v § Hafad gt a1 79T FEhI" F qTH qAr20?

Q.8  Name any Two "Push factors" related to population distribution ?

o 9. fRuffeg sfvwaa ud #or . fTEr #*a gu &y v GFea §& ¥ 9gr 39¢ &1 999
EIE

Q° 9 Considering the following assertion and reason, select the correct answer from the given
options.

FINFAT - orgfiomewr U UET ubkar @ e awdl o wwel § SFEedr H7 G%egor g gl
Assertion - Urbanization is a process involving the concentration of population in cities and towns.
FILOT — MR | gl & # s o™ § s|ae i gt 2l

Reason - Urbanization leads to uneven economic growth in urban areas.

3. Ans.

(A) ATHFIT 3T FT AT qA 3, AT FEOT ATHFIT Al Tl ATSAT gl

(a) Both Assertion and Reason are true, and Reason is the correct explanation of Assertion.

(B) AT ST FXO ITAT T , AThd FHILOT, ATHHAT T Tal ATLAT Tal &l

(b) Both Assertion and Reason are true, but Reason is NOT the correct explanation of Assertion.
(C) ATYFIT T g, AT FHILIT AT Bl

(c) Assertion is true, but Reason is false.

(D) ATYFIT TAq g, AR FT T 3l

(d) Assertion is false, but Reason is true.

e 10. FAuffEa a@fFwa" tad s w GFEr 9 gu &y 7u Gwen 49 ¥ 98 S97 &1 99
ENE I

Q- 10 Considering the following assertion and reason, select the correct answer from the given
options.

FIWFHIT — ATHOT-92H T Jgd¥ TUSRMT F FFEel 3T dgas Sad ¥ it g F IfRa 2
Assertion - Rural-urban migration is driven by the search for better employment opportunities and
improved living standards.

FRO: - agdt & GFfgy a9 F osEEw sfiT 39 giawmsi 9% 9ge YT wd g S Y &= H
AT F IUAH A2l Bl

Reason - Urban areas offer diverse job opportunities and access to amenities not readily available in
rural areas.

397, Ans.

(A) SITHFIT &lIT FOT T qA 8, AT FT ATHHAT 0 Tl ATEAT gl

(a) Both Assertion and Reason are true, and Reason is the correct explanation of Assertion.

(B) ATHFa 3T FIOT AT TA 8, AR 10T, ATHFRAT P Tol ATEAT ol gl

(b) Both Assertion and Reason are true, but Reason is NOT the correct explanation of Assertion.
(C) srf¥rpor wrexr 8, Afh For et a 21

(c) Assertion is true, but Reason is false.
(D) srfssre rerq g, oo 10T 9T 2l
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(d) Assertion is false, but Reason is true. )
gs -9
. o section B s
T GE F THT T3 2-2 37 o §| TH G F FoA 3 6+2=12 § TAH T HT I 20 F 30 o<1 # ARy
|

All the questions in this section are of 2 marks each. The total marks of this section are 6*2=12.
Answer to each question is required in 20 to 30 words.

To 11 /IS A I T el H TR oy

Q.11 Define ‘Human Geography’ in your own words.

o 12, F9-FFafaars 41 82
Q. 12. What is Neo-.determinism?

.13, STTEEAT & (A0l & HaH H T HILhI HT 0 I 197

Q.13 Describe Pull Factors in context of distribution of population

o 14, =9 T &1 qiATOT Ffm)
Q.14 Define Birth Rate.

o 15 TTHTI] SHo(l 47 8?2 AT | fhval 2 TXHT (ST TH2] & Ieci@ i e[|
Q 15 What is Nuclear power? Mention any 2 nuclear power stations in India
AqaT/ Or

o 15 RT 9% SUA/TYE A Ta o TATE T TATS FAT &7 Thd 52
Q. 15 What can be the possible impacts of consumption of contaminated / unclean water on the
people?

.16 AT de T2 foord 9 # 4 aw=rral & 918 forfem)

Q 16 Name the 4 ports of India located on the east coast.
YT/ Or

To 16 TTSIATSH Tag & ATHI I F=T i1
Q. 16 Discuss the advantages of pipeline transportation.
gs - T
Section C
T G % Y T 3-3 3 F F1 T S ¥ T 37 6*3 =18 F| TAF T T I 50 A 70 9rsaf A A({eya
g

All the questions in this section are of 3 marks each. Total marks of this section are 6*3 = 18.
Answer to each question is required in 50 to 70 words.

o 17, Taea o Tt qor & s{faera @ fatert & el ot fareroarsit i e0g S|

Q 17 Explain any three features of underground mining methods in different countries of the world.

To 18 AT H SEEAT gl § &1 fo=ar &l &g i)

Q 18 Explain regional variation in population growth in India .

To 19 UTHIOT TRFAT F THTL T T hITorU|

Q. 19 Describe types of rural settlement.

o 20. AT | FOA Ko\ #71 gferm e ffsm)
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Q 20. Give a brief account of Cropping Seasons in India.

o 21. AT o Taeer AT FiT FFATqrsti 7 Sear@ Fiforu)

Q 21 . Mention the characteristics of India’s foreign trade.
4T/ Or

To 21 "ATECAHTAT TS | T 97T qHd &2 T § GHATST
Q 21 What do you understand by “Bharatmala Project” ? Explain briefly.

o 22, "THTTH T FTAHA" T T8 HI0)

Q 22. Explain “ Namami Gange Programme”.

4T/ Or
o 22, HIFA TATES IT AT TG 6 THTT FAT 52
Q 22. What are the effects of air pollution on human health.

g - ¥
Section D
TH G & T T 5-5 3% F g1 TH @ F FA (% 3*5 =15 §| Td® I &7 39 150 & 170 ol |
Fifeag |
All the questions in this section are of 5-5 marks. Total marks of this section are 3*5 = 15.
Answer to each question is required in 150 to 170 words.

o 23 STHAHTTETHIT HATOT Tl TIRATIOT 3| THeht (AT srareemen &1 =g fiform

Q 23 Define demographic transition. Explain its various stages.
YT/ Or

To 23 SAAHEAT TAd il TICATIT He | STAHGAT T 37 THTH Tl S0 6 T TH A9
! I TT FHIfoTU)

Q 23 Define population change. Explain its various components with their effects on population
o 24, HIAA ToaTe THAHTH il TCATUT i o1 TS [T o AL TqeAT I €T |

Q 24. Define Human Development Index. Explain the four pillars of human development.
YT/ Or

To 24 ZAAT H SrEnfiE Rufa i TAriad e arer w1t a7 uE e feoaoft 3

Q 24 Give a detailed note on the factors that influence the industrial location in the world.

o 25. Taq Troeiy s v i w32 gaq it A &7 9@t o7 F oo Bt s
T T FIoT0)

Q 25 Define sustainable development ?Describe various measures for promotion of sustainable
development.

FIaT/ Or
To 25 WA § S [T 9¢ U (e o)

Q 25 Write an essay on hydel power in India.

Section E
g G A= F1d Q@ Gaoga g | 39 @S & F 3% 5 B

This section is related to map work. The total marks of this section are 5.
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To 26. AT & == u¥ Feferfera & gorizu-

Q.26. Show the following on the map of India-
a) WITHS - Alg SATEH G HT &5 Mayurbhanj — An area of iron ore mining

b) OTHTOd 9o RRTSALT Panipat oil refinery
) TMIL &I T Durgapur Steel Plant
d) TTRRTST FIAAT 857 Raniganj Coalfield
e) TRWErE ST ae & Digboi Oilfield
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